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DM 01 (Draughtsman Mechanical) : Series - D

. . g% / Question I AFeq
Q. No Answer Options
(e wfaweet g &g & WY Bl |a) F&@HIO0E / Orthographic
. HFEA B _ b) Ted/Perspective
1 Projection of an object by three views is known | ¢) 3ms@/afe® / Isomatric
s 7 d) fads / Oblique
W vd gAEor & AU SR AE T | 2) SP 46
a:ls’r gar & b) BIS 41218
2 Bureau of Indian Standard publication for Iine | ©) ASME Y142M
and lettering is ? d) ISO 9000
dosd R v & fafdree amwer | @) @ / Symbol
3 SCh : b) w&dr / Perspective
Welding drawings are a special type of |€) HIVSHT / Assembly
drawings? d) smedEAfeF / Isometric
sifethe #, #AfgaT  FA,  OaSg % &) GEIAH / Mass
In AUTOCAD the MASSPROP command will | ¢} @feser dfew / Bounding box
provide information of solid body. | d) Z9tad wafr / All of the above
. , | o) wAfAfT H
asr S faegfad w9 WA ~ Line of symmetry
5 _ foefia o & for R s b) =g (@W / Center lines
Long—da:hcd dotte(j narrow line is used to ¢) fr g / Pitch clirbles.
represemt ! d) 3T @it 7 All the above
TFH YTl HIUHETE H fhgelr BT #F[a) 360
¢ | Taeaa femam wram g2 b) 180
o c) 270
A half-moon protractor is divided into how
! d) 310
many degrees?
@wus # avg @ uF aqeter | @ R /Revolved
. e T e b) fawsRa / Removed
In section, one quarter of the | €) TGHTY / Quarter
object is removed? d) 3 / Half
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DM 01 (Draughtsman Mechanical) : Series — D

7. . 9957 / Question IR [aew
Q. No Answer Options
a) SHidgl TF W P T HAT
u C e set the layer to Defpoints
mﬁw-wﬁﬁﬁﬁmﬁmﬁb)ﬁqmﬁmmm
|, TR NEE W F F & / see the entire bounding
8 T gletr =fgw area to hatch
When filling an arca with a hatch pattern in o) AT F e FE
AutoCAD, the drafter needs to be able to
set Ortho on
‘ d) 1SO firs dg +¢
turn ISO grid off
a) Iod &0l / hidden feature
TE AT @Us, oY 39, g us R w@r @us | b) Jed F dhen / center of a circle
g | fed M@ @ gl & ¢) I T H Foq HAT
A line drawn with a long section, short dash, center axis of a hidden cylinder
and another long section is a d) B & g
' center of a radius
a) FAGET 9T B
Parallel] straight edge
TRUNE TR F TYad TR F Fg 3907 | b) 45 Bl fapor
10 feerafaa o afeafoa w3 & 45 degree trigmgle
Several of the tools used in traditional | ©) del Feele
draughting include the following: Circle template
d) IS |8
4 All of the above
TR e 4 fgar vd fAvar §fad &t arel | a) fae 3@r / Dimension line
At gar et & 78 Y BT & | b) T9&aRor 3@ / Extension line
11 is a line terminated by arrowheads, | ¢} TR Y@ / Arrowhead line
indicatipg the direction and extent of a d) ¥z Y@ / Centerline
dimension.
a) GAET SEAET
Portable documents
mfea @Al # fFr v oRadst fr o6l | b) UE wAYe sdle
1 | RS gan 3Eafda # ol § A revision block
An accurate record of changes made to release | ©) A Sy i
drawings is tracked via The basic title form
| d) FEHAT 3@
Working drawings
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9. 4. g2 / Question EIGEMCE T
Q. No Answer Options
' a) Ta#A™ 3TAT / Dimensioned size
03 ROSef &1 “.i Td 3T —_— m% b) 3c9EE AT / Production size
The measured size of a finished part is ¢) T AT / Basic size
d) srFafd® 3TAT / Actual size
8) 15 3 FEEHRE aF Je FwT
set the grid to isometric
o . . | D) UrT W & 2% gt g% dc
IMeThs & MEHIART ANTT 3T F& A I, ) e
14 BEHI f[ aF I - ﬁ 3R ) ;ﬁ ,% . set the current layer to Defpoints
efore starting an 1sometric drawing in ¢) TET T T GF T
AutoCAD, the draughtsman needs to s
: - turn Object Snap off
d) 3l = g FET
turn Ortho off
- a) Tdg YRSpd FHeaT
Teh Tag & JRiEaxer s & fav qq‘j%ﬁ w1y | Surface finish mark .
s |8 ST Rt S ¥ by weffder Rear / Machining mark
is used to indicate that a surface is to | ¢} GWEUIH Fah
be machined. Roughness indicator
d) Coordinate mark / GHeaT He
TATT SAMAGT o80T § Wefdia 3R ¥@r | a) &1 / Bdge
: AT &t 9 H ST ST § b) e / Corner
16 Baseline dimensions are referenced from a ¢} e / Datum
common geometric feature known as a d) desk ﬁ% / Point of reference
a) e g / fafas
. - . Vanishi int / hori
weah et &, S g | g;};f%gpom oron
17 I Frfe .i RRIT ST § ) Station point
In perspective drawings, s placed ¢) WaIT Taet / o i
between the observer and the object. : Pl I .
ane of projection / picture plane
d) & ¥@r / Ground line
T AT BT dew & @ @ 3w a) s/ Add
WA AR & WIS 3G SgFT HIHRS | b) e / Union
HIEET gar & ¢) e / Attach
18 The AutoCAD command used to combine two d) ®1# / Form

or more primitive shapes into a single complex
3-dimensional model is ?
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9. . w2 / Question Feat fraew
Q. No Answer Options
T o f Rufy o9 s gard 7 sewad |a) wewEdn / LMC
AT wiEAfad o #7 % T9 & Wl | b) TgFAH AT / Smallest size
forar omar § , ¢) arEdiges AT / Actual size
19 The condition of a part when it contains the | d) waTadL / MMC
least amount of material is referred to as :
IO TEY AT EMT § AA, I T Td JAIT | @) HAeT / Adjacent
ToleT & UTEATS Tolet gl b) @& / Aligned
20 | Angles project true size, only when the plane | ¢) deaa / Perpendicular
containing the angle and plane of projection are ) wEweR / Parallel
9 :
uF I UH T gY Ieeid i H gl | a) @/ Lead
g ¥ ' ' b) fra / Pitch
21 The distance a screw thread advances axially in | ¢) @t / Tum
one turn 1s d) #¥e / Crest
Frwdr INEAT 7 ygEa A seldw a) W ¥R / line type
| F TR FEr TR b) effc @& / sheet number
The title block used on working drawings | ©) e HT / layer set
should include the d) 3WRaEa T@er / all of the above
afy wm @ (1,5) wd (:3,5) fgat & | ) e Ifeie / Three units
INFRT H orar § O gEdhr TR &€ | b) IR gfaAe / Four units
23 gifr _ ¢) 9 If=T / Five units
If a line is drawn between points (1,5) and {-3,5) | d) w Yfeie / One unit
then it’s absolute length is _
a) YRASAT IRGA YT
Project drawing management
_ b) BTG HREF TR
o4 PDM ' ¥ fow weifaw € Product drawing manipulation
PDM is the acronym for ¢) 3G BT geye

Product data management
d) oS Ser afEnes

Project data manipulation
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g. 9. 92 / Question el Fed
Q. No Answer Options
s &, wF IqT H P UF TSR | a) guleT / Revolve
FNEH @R FHA ST @R ¥, a@Haw | b) 3eEROT / Extrude
25 3UHIT G@RT fRAT ST WHEATE | o) wHT / Sweep
In AutoCAD, a cylinder can be created by | d) sudieg & & 15 sff =8t
-{ drawing a rectangular shape, then by none of the above
tool.
FEJHRATCAS "D AT Ued  wr HGer | &) 24" X 36"
@ o 11X 17
26 The measurement of architectural "D" size d) 347X 22"
paper is
a) &ifas 30 & wanfa
placed horizontally
fafee faaor ol w ggaq foww b) deg vy &
27 RGIRGITY in bold text o
The text used on a typical detail sheet should be | ©) IEGPellcA faug &1 7
: in an architectural text style
dy 3ul=d # q +g off 7t
none of the above
a) Terd / material
@Ree dlec & fov g A W b) g Y@ / center line
2 m hraj?Tr for a typical bolt will include | & %, 7 3¢ S
- ¢ threa n.ote or a typical bolt will include rr}Jajor diameter of the thread
d) 3wde g1 / offset distance
a) 15 3rear 30 Rt
15 or 30 degrees
s st A, 9IIYauT @A & | b) 25 3rar 30 RRfagt
ng | TNT Scaft wrA=aa: e Hor @y § 25 or 30 degrees
In oblique sketches, the most commonly used | ©) 60 3ar 90 It
angles for receding lines are 60 or 90 degrees
d) 30 3rar 45 fefa=r

30 or 45 degrees
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92T / Question

e faseq
Answer Options

30

21 #.3r. arer TH &@ar @@ar dig T8y ud
ST SRl wrg § WAl ¥ 3y urgw fr A
1 & & 3 g o 8 gm/em’® & A 9sw
gX__ ®Emw , .

A hollow iron pipe is 21 cm long and its
external diameter is 8 cm. If the thickness of the

pipe is 1 cm and iron weighs 8 gm/cm?, then the
weight of the pipe is ?

a)
b)
c)
d)

3.6kg
36 kg
36.9 kg
3.696 kg

31

sk 1, s 30 @A Y@ W oS ig

STITRF GET WEET YO F ST B S

INTF & FR god Far & sifasr &g @ 45
foalr & e
In AutoCAD, wusing the Relative Polar

Coordinate System to add a 30 mm line that is
45 degrees from the end point of the line

| ¢created above the drafter would

d)

@30<45 22T ® Td UeT ga
type @30<45 and enter

30 2ST S dF T F 39U
UeT gy

type 30 back slash and enter

30 TET Y PRYS TAA & 39T
Tex gaw

type 30 forward slash and enter
30 ersy Y U9 A g wr ver
A F AT seAS gage
{rE3mse &1 99T 4 8 A
-ﬁ .

type 30 and try to use the
Dynamic Input readout to find

* the end point

32

we 3Mer¥s usg o OF ARG avg B Heldd
I ¢, O smEa wEd § gufdd @ ¥
AU HEIHATAN 3 Fhell IR Frged A
SAGE FRaT ST EehaT & _ETE

An AutoCAD term that refers to a pre-drawn
object which is stored in a drawing file and can
be inserted into any other drawing file as
needed is a

sdlies / Block

fg& / Brick

e / Balloon

3q0Fd § § FIs o FET

none of the above

33

U 6 AL e Ud 4 AN S ol fr oA 1
#r. 25 gAL # TEUs & ger § g udg &
T 4R e

A water tank 6 m long and 4 m wide contains

water up to a depth of 1 m 25 cm. The total area
of the wet surface is

a)
b)
€)
d)

(=]

49 m
50 m
25 m
55 m

SR )
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92 / Question

IcadX AFeT

Answer Options

34

TF sl B G HGT THT IRNGH H IR

| Reg =afae w=a waw fafee @ a7 gsar

¥ Faitr a8 iR wear &

When creating a block the drafter needs to pay
particular attention to selecting a base point
because it determines the

a)
b)
c)
d)

41T / Scale

guls T / rotation angle
e fawg / insertion point
goT / color

35

UF I T 915 U9 @igls & &= &1 a7 23
Ar. &1 Tfe gaer aiAmw 206 o &, @ s@er
e LTl g ‘

The difference between the length and breadth

of a rectangle is 23 m. If its perimeter is 206 m,
then its area is

a)
b)
©)
d)

™~

1520 m
2420 m
2480 m
2520 m

SIS RS )

16

! sfteree

THUT ZANT FH HEA
R W FAT FNEA ST%d Fl. W@ FT TH
STog alrer &

In AutoCAD, one quick way to view the entire
drawing area is to use the Zoom command by

typing

SHOWALL 219 =& wex
type SHOWALL enter
7,289 a3 A TeX

type Z enter A enter

Z2ET F:FH UK E T
type Z enter E enter

ALL TEI FF X

type ALL enter

37

s B F IR 3R T awed e @ Raw
_ ®ar & fuer el yEner wh
IR g MY A owed F F v Reem sen

3

is a conical-shaped recess around a
hole, often used to receive a tapered screw
head.

14 / Boss

Tare-%e / Spot-face

ufar fafereoft / Counter-bore
gt §iT / Countersink '

38

FON U9 3ffeheT @HlET ITeIOT K owq A
FOGIET Flh, HRdweq wfmar v

FH A A FEEE 8 TR § v seaeedar

el @ faged FT wwdr §

Using ‘ as a communication and

design review tool, can help shorten the design
process and eliminate productivity barriers.

d)

[CEaps iRy
Development plans
Yared e&ardsl Bigel
Portable document files
AT Ud A

The Internet and e-mail
e Ir¢ / Gantt charts
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9. g 92 / Question ZeaX ey
Q. No Answer Options
Sa 5 @A Froast grdr & uEr # osaae S| a) 112.5 com
150 #r. x 150 3. 9 s o Pear § gg| P 1125 oum
® ¢) 11.25cum
39 BT & &) 11250 cum
When a 5 ¢cm of rain falls, the volume of water
that falls on 150 m x 150 m of ground is
a) HTYET FETIAT Wiee ferATor
Fract A, Alsa, FYar g 997 gA7 44T Computer-aided manufacturing
mmﬁﬁﬁﬁqiﬁm‘%@wb)_mmma@m
40 | FEFeTE ' AT Zar & Computer-aided design
allows the designer to concepiualize c) FLT eI wreer At
objects more easily without having to make (?omputer—aded engineering
costly illustrations, models, or prototypes: d) YT FETIAT e 3 wed
Computer-aided prototyping
a) 3Ny ¥ / forward stroke
b) araEr FgeE / return stroke
g | T & el erg & e &1 § o) aWt e ue aae w1
A file removes the metal during - both forward and return strokes
d) 3od # T #S &4 T8
none of these’
g SFId F FEA F HA H, FFd & Fow | a) 30°
T e . ¢) 50
In order to cut mild steel, the cutting angle of d) 60°
chisel should be
Tt ¥ aot @ o ¥ @ e | @) T9#ms / Divider
is used to check the squareness of | €) argadt / Trysquare
surfaces. d) WdgMs / Surfacgauge
a) el ud FéEeT
oxygen and hydrogen
o | | b) Ao, gsge, T we
Rffiesr g & dosa A 9o I ATEeToTe
44 Fr GfEAfeT wE oxygen, hydrogen, acetylene and
The gases used in different types of weldlng n‘throgen
would include ¢) e, vEifEds ug M
oxygen, acetylene and argon
d) e ve vEifeeie

oxygen and acetylene
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7. . 997 / Question 3ok faFeq
Q. No ' Answer Options
o gt . ' a) dwge / Graphite
45 . ; o727 T by fafeRe / Silicon
'&rraT.I‘@*‘?/ Which of the following is used in 0 Yere / Charcoal
penelis! , d) ERRE / Phosphorous
U Y F 496 # wiowadar gig #, afyja) 40%
0,
SHH Y® WIS A 20% EaRT 918 et § ar E)) jﬁ;’
" BT & d) 46%
The percentage increase in the -area of a|
rectangle, if each of its sides is increased by
20% is
ATSHIATCT, ST, SIS FYTHT T TUAT F7 | a) Bl 30eT / feeler gauge
ZaART A1 fovar ST whar & b) @df e / slip gauge
47 The accuracy of micrometers, calipers, dial ¢) IoF e / ring gauge
indicators can be checked by.a d) TewT 9T / plug gauge
a) SIS B Howd Serel
Strengthen the joint
o owmw F fav fEfed Sl W | b) wel o fGeror UFe
48 FERIYe U @rae saiied R S & Avoid tearing of plates
Caulking and fullering is performed on riveted | ) &ROT et
| joints to Prevent leakage
d) 3uTera gl
All of the above
v Y 25 e, 1290 Ser v 6o, wgw #1 | a) Rs. 4560
s ARt UF el T AT FE F oA b)) §5'§§§8
. : ¢) Rs.
49 (WAL 7S w R E A g d) Rs. 5680
A tank is 25 m long, 12 m wide and 6 m deep. .
The cost of plastering its walls and bottom at
7.5Rs. per sq. m, is
a) dIEdIde AT F TH WG
o : one side of the actual size
T WETAT & gfaund womel o, 9T | b) ATHT AT F UF Wb
50 | wEadr & 3repAf & Sl & one side of the nominal size
In a bilateral system of tolerance, the tolerance | ¢) ITATAF HAT & Gt HE
is allowed on both sides of the actual size
d) T HAT & FAr am

both sides of the nominal size
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9. ¥. 92T / Question ERSCE T
Q. No Answer Options
a) AME YURT &H d97 gAT
the heating effect of current alone
b) wTy dfew Tw
5T TGN T A # gw A hysteresis loss alone
s; |EE , ¢) Qe ORT F A W T
The heating of the large transformer is due to e g
both the heating effect of current
and hysteresis loss
d) avares # dig "
intense sunlight at noon
s) HB
53 frafaf@a & ¥ Fi9 wr ifeaa ds woRam 52 | b) H
‘Which of the following pencil lead is hardest? | ¢} B
| d F
_ a) .dicer / Brass
53 am, feer, fiF & ﬁril’d. id &l — FE§ b) '#JW / Bronze
An alloy of copper, tin and zinc is known as ¢) 7 g / Gun metal
d) Nuntz &g / Nuntz metal
a) 0% / Henries
54 _ # ofady @ A R G‘ﬂal' E.* b) 3HH / Ohms
Resistance is measured in ¢) daiec / Watts
d) dlee / Volts
FAX SO F Hg A ¥ e e s | @) P / Carburizing
. & ' A ¥ b) THAET / }.Jormalizing
The heat treatment process used for softening | ©) 3% / Annealing
hardened steel is d) T¥FHeT / Tempering
ofe s 30 Heb F faw 400 W A ufFw @ [a) 13kWh
56 | &ww d) 12.3kWh

If you used 400 W of power for 30 hours, you
have used .
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9. 4. 92T / Question 3o AFeT
Q. No Answer Options
a) a?rsfr 3RS fFar s ‘e*
can be drawn into wires
b) 3" €T T FiA F TR &
. - can cut another metal
FORAT UF Yk & AT A § G g9 ¥ | o) wiauw wurl fRwaer ¥ e s
YA L J— | gy
The hardness is the property of a material due breaks with little permanent
to which it . distortion
d) odelr AT 7 e 3rEr guler
ART ST Gl &
can be rolled or hammered into
thin sheets
S S a1 et & 9w w3, (6 x 10%) (5 x [a) 3 x 10°
10%), wRoTe T by 30x 1089
58 When these two numbers are multiplied, (6 X ;) ;’88;;?07
10%) (5 x 10%), the result is )
TR gard IO S a9 ¥ AE HRUY | a) HIRAT / Brittleness
T %9er F Wy o g T § oar b) d@waar / Ductility
FEa B ¢} ErIaEadr / Malleability
59 The property of a material due to which it d) cenfeeear / Plasticity
| breaks with little permanent distortion, is called '
8) TAWET &l IHAT
viscosity of ink
e T GERT TR A FA@LT R oa;ill 1y?jiTon phenomenon
ar
60 mmg . . c) ST F GERT FURY F fEIor
Tfhe absorption of ink by blotting paper diffusion of ink through the
involves . blotting
d)y wrswe fmar
siphon action
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% g /Rough work
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